
REPAIR 
KITS 

FINE THREAD 
BOTTOM RAIL KIT 

F9922689-99  
CONTAINING 8 PIECES EACH:  
• 3/8-24X1-1/4 TORX/6 LOBE 

BUTTON HEAD T45 GRADE 5.1 
MACHINE SCREW ZINC  

• 3/8-24 NYLON INSERT LN ZINC 
• 3/8 NYLON FLAT WASHER 

LANDING GEAR KIT  
F9930749-99 

CONTAINING 12 PIECES EACH:  
• 5/8-18 X 1-7/8 CAP SCREW 
• 5/8-18 NYLON INSERT LOCKNUT 
• 5/8 USS FLAT WASHER 

2 PIECE  
BOTTOM RAIL KIT 

F9921688-06  
CONTAINING 8 PIECES EACH:  
• 3/8-16 X 1-1/4 TORX/6 LOBE 

BUTTON HEAD BOLT 
• 3/8-16 HEX FLANGE SERRATED 

NUT 

OTHER REPAIR KITS AVAILABLE…… 

3 PIECE 
BOTTOM RAIL KIT  

04-06638-KIT 
CONTAINING 8 PIECES EACH:  
• 3/8-16 X 1-1/4 RIB NECK 

CARRIAGE BOLT GRADE 5.1 3/8 
RIB LENGTH ZINC 

• 3/8-16 HEX FLANGE SERRATED 
NUT CASE HARD ZINC 

• 3/8-16 NYLON FLAT WASHER 
ZINC 

3 PIECE BAG 
F9921669-99  

CONTAINING 22 PIECES EACH:  
• 3/8-16 X 1 TX/6 LOBE BUTTON 

HEAD BOLT 
• 3/8-16 FINISHED HEX NUT 
• .390 X .660 SS GREY NEO 

BONDED WASHER  

3/8 BAG KIT 
F9921680-99 

CONTAINING 55 PIECES EACH:  
• 3/8-16 X 1-1/4 RIB NECK 

CARRIAGE BOLT 
• 3/8-16 NYLON INSERT LOCK NUT 

parts@stoughtontrailers.com     ●     stoughtonparts.com     ●     Phone: 800-227-5391     ●     Fax: 608-873-2879 


